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1. Choose the correct answer from the
following : 1x8=8

(a) Who wrote the book, Industrial
Sociology ?

(i) Miller and Form
(i) Miller and Max Weber
(i) Form and Max Weber
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(2)

(b) In which year the All India Trade Union
Congress was formed?

(i) 1920, 31 October
(i) 1919, 30 October
(i) 1920, 31 January

() In which year the Bonded Labour Act
was passed in India?

(i) 1976
(i) 1977
(i) 1983
(d) Who founded the Madras Labour
Union?
() Mahatma Gandhi
(i) B. P. Wadia
(i) Jawaharlal Nehru

(e) “Organizations are social units
deliberately constructed and
reconstructed to specific goals.” Who
says this statement?

(i) Ogburn and Nimkoff
(i) Eliot and Merril
(i) Amitai Etzioni

8P/786 ( Continued )



(g)

(h)

(3)

The word Bureaucracy was first coined
by

(il Max Weber
(i) V. D. Goureng
(iii) Elton Mayo

Which of the following is not the
characteristic of pre-industrial society?

(i) Direct social control
(i) Dependence of nature

(ifi) Complex division of labour

In which year the Industrial Dispute Act
was passed?

(i) 1947
(i) 1974
(iii) 1948

2. Write on any four of the following (within

150 words each) : 4x4=16

(a) Pre-industrial society

(b) Formal organization

(c) Factors of growth of trade union

(d) Social security

(e) Impact of industrialization on family
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(4 )

3. Answer any four of the following questions
(within 500 words each) : 14x4=56

(a)

(b)

(c)

(@)

(e)

(g)

Define  industrial  sociology and

elaborately discuss the scope and

subject matters of industrial sociology.
4+10=14

Define trade union. Write two functions
of trade union. Discuss the changing
role of trade unions in present context.

4+5+5=14

Define organization. State two
differences between formal and informal
organizations. Discuss the role of
informal organization in an industry.
4+5+5=14

Discuss elaborately the factors
responsibilities for development and
growth of bureaucracy. 14

Discuss the methods and machineries
of settlement of industrial disputes in
India. 14

Write a critical essay on labour welfare
in India. ' 14

Elaborately discuss the Industrial Policy
of 1991. 14
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